FODOLE

INSTRUMENT PROCESSING SHEET

B0 -0\ T2

; agency_ LEE  COLUNTY SO S/N
Alcohol Testing Program v .
Date In 5 pate out (2 [(2 [T Wship Qp/u OH/D Qcmi QEE
o) “ )
Intake Performed By ()Y / Quality Checks  Performed By << Flow Calibration Performed By
O Registration o labTemp°C_RX |, 0 ﬁ Flow Calibration N/A @
g Annual B Breath Tube Screen O Flow Calibration Comple§0
Return from CMI Replace External O-Rings Flow Column # L,
# Return from Enforcement Instrumeniéet Up Verified a 5L/m|n 17mm /]/” 62
Electronics R-Value O 1sL/mi §3mm
Q Other Flow Verification (L/s) O 30L/min - @8;& ( "/‘-////
Visual Inspection: FlowColumn# AVP10% | Q R-value Str,
0K Case O Handle 32mm - {Z (139-.169) | O Post Calibration Venftcat?ofﬁ{L/s)
O\ DryGasHolder 0L Feet 36mm -+ [T (.156-.190) Flow Column # Yrs,,
0¥ Keyboard/Plug Ol Back/Plugs 53mm - ( 228 - .278) 32mm (.139 -.169)
_DE_screws tight _0 ¥ Breath Hose 103mm _L' _ (447 - .547) 36mm (-156 - .190)
ﬁ. Barometric Pressure Check 53mm (.228 - .278)
Other Equipment: Gauge ID#_ 284 2] 103mm (.447 - 547)
O Power cord $ Stability Checks Maintenance Performed By
O Printer Cable ‘Simulator | Serial # Lot #/Exp 0 Battery Replacement
lﬁf other_ S TATIC BAG 0.05 D036 201003D| | A Dry Gas Regulator Replacement
B-5-1% O Breath Tube Replacement
0.08 L O Other
Notes: sD DY ﬁ?-ll(étg Quality Checks Cont. Performed By=< %
0.20 Simulator Temperatures °C
61“(02-'1 %?‘é'ef)[‘éc External Digital Therm. ID#: ,&2
0.08DGS | N/A AGpalol M 34°C+-.2 Serial#: Q_D_Ti?_a
9-22-18 @ 34°C+-2 Serial#: S 4
OX 34°C+-.2 Serial #: Dﬁ =54
Calibration Adjustment Performed By _\ I~ Department Inspection Performed By S1 A
O Calibration Adjustment N/A ﬁ Barometric Pressure {005 Gauge
Calibration Adjustment Complete D# AF q > 1H0 5 Instrument
Barometric Pressure Gauge |05 ib# LK 4|
Simulator Serial Number | Lot Number rExpiration Mouth Alcohol Solution Lot # K01l —
0.000 S DIOIG | NA N/A Acetone Stock Solution Lot # 20 |7) -
0.040 S D io l'5> /_3 20 i0-4 1-15 Simulator Serial'Number
om0 SD1013 1170t 0 | 214-19]| R e
0200 [Spjo)]_[(7090 | 3-2%/9 ZELES
: 0.05 SOH g
0.300 DRIATSE |40 1R-19-18| | [0.08 SO A4
0.080 DGS N/A { t-ja 1’6—2)8’ 2 7 e 6"..[7 0.20 SD :%(1 %{.3
B Post Calibration Adjustment Stability Checks
Simulator Serial Number | Lot Number | Expiration Attachments
0.05 SD3YUe2 | 201003D| 3-8- (% | Form 41 B calibration Adjustment
0.08 SDXUeH | Zelo e | L-(5-1Y % Pre-Stability Tests B Post-Stability Tests
0.20 6’0361%3 2014 | - 5-18 U Flow Calibration W Other _FORM) Yo
0.08 DGS N/A 124051 5-23-1%

Notes/Suggested Service:
PERFormeD CALIBLATION ANTUSTM ENT

D _BRING VALUES ClosEL T mtmw&%p

A

QA QC ™ O1QY A
WM LA

I

" Instrument Complies with Chapter 11D-8, FAC
instrument Does Not Comply with Chapter 11D-8, FAC

Return to/Place into Evidentiary Use
Remain Out of Evidentiary Use

"
a
o
]
=)

Conduct an Agency Inspection Before Evidentiary Use

Quality Control Revicewa

(a#al T7
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